Algebra 2 Name /( £>/

Chapter 3 Practice Test Date

[ Please solve the system of equations, using substitution.
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ﬁlease solve the system of equations, using any method. ]

2y A . ~»
5 ° H2x+8y=6 3) m?L//f’/.A-j &’/‘/#‘)@

);‘_5 -5x —20y =-15




6) fz% [:gx 5;;55;75 6) (ﬁ/) -/f/ 'f/"/)

s) 2x+5y —3z=-10

N sy sfese=sT ) K ;Sg/f“? =/7
) xS -32="0 3 ZxpFySe=—10

—/_::g’;;j” Bl e = J = 7
o
\i/ "' > ¥} ;A7 F -
ot eS| B le= S| 2xe Sy-32=H0
XHe=] Z’%Z%’ =35 & y@ /=0
7z A 2 [erses
==t ] L2=70 | Jf’g =0
; P /Af ; jZZZ
| =TT SY=-20
=4
[ Please solve each system of inequalities by graphing ]
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Please label all intersection points clearly.
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[Using the intersection points for the problem above, please evaluate the minimum andJ

maximum values for a cost function defined by C = —x + 4y.
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[ Please perform the following matrix operations, by hand.
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Please evaluate the determinant, by hand.
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Please evaluate the inverse, by hand.
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14)  Please solve the same system of equations from #3, using Cramer’s Rule. (é

(You may use technology, as long as you clearly state what steps you took, and
write out each calculator result.)
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Please solve the same system of equations from #6, using an inverse matrix.

(You may use technology, as long as you clearly state what steps you took, and
write out each calculator result.) ﬂ(
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